
Model # Finishes Fini Acabado

D500521 Chrome Chrome Cromo

D500521BN Brushed Nickel Nickel brossé Níquel cepillado

D500521RB Oil Rub Bronze Bronze poncé à Bronce lustrado al
  l'huile    aceite

Pressure Balance Shower Faucet
Robinet à régulateur de pression pour
douche
Grifo de presión balanceada para 
ducha

D500521-I/04-07.01

D500521 (VA)

Part  Nom Nombre 
Name de la pièce de Parte

Part #
# de pièce
# de Parte

Illustrated Parts List
Liste de pièces illustrée
Lista ilustrada de partes

1. Thin wall Installation Kit Nécessaire d’installation  Juego de materiales 
  sur mur mince para instalación en 
   pared delgada
2. Screw (M5 * 26mm L) Vis (M5 * 26mm L) Tornillo (M5 * 26mm L)
3⊙. Screw  Vis  Tornillo 
 (3/16" - 24 * 2-3/16" L) (3/16 po - 24 *  (3/16 pulg. - 24 * 
  2-3/16 po L) 2-3/16 pulg. L)
4. Plaster Guard Protège-plâtre Placa para pared
5⊙. Shower Head Pomme de douche Cabeza de ducha
6. Flow Restrictor Réducteur de débit Limitador de flujo
7. Screen Washer Tamis et rondelle Arandela con criba
8⊙. Shower Arm Bras de douche Brazo de ducha
9⊙. Shower Arm Flange Bride de bras de douche Brida del brazo de la ducha
10⊙. Metal Handle Manette en métal Manija metálicas
11. Screw (M5 * 6mm L) Vis (M5 * 6mm L) Tornillo (M5 * 6mm L)
12. Index Button-Cold/Hot Repère de temperature-  Indicador de 
  froid/chaud temperatura-caliente/fría
13⊙. Screw  Vis  Tornillo 
 (3/16" - 24 * 2-15/16" L) (3/16 po - 24 *  (3/16 pulg. - 24 * 
  2-15/16 po L) 2-15/16 pulg. L)
14⊙. Escutcheon Écusson Escudo
15. Escutcheon Seal  Rondelle étanche pour  Sello para escudo
  écusson 
16. Seal Rondelle étanche Sello
17⊙. Base Nut Écrou de base Tuerca de la base
18. Locking Nut Écrou de blocage Contratuerca
19⊙. Sleeve Manchon Manga
20. Ceramic Disc Cartridge  Assemblage de  Juego de cartucho de 
 Assembly cartouche à disque en  disco de cerámica
  céramique   
21. Temperature Limiting  Régulateur de  Dispositivo de limitación
 Device température 
22. Pressure Balancing Insert  Pièce rapportée  Pieza de inserción para 
  d’équilibre de pression presión balanceada
23. Check Valve Clapet de non-retour Válvula de control
24. Plug Bouchon Tapón
25. Pipe tape Ruban pour tuyau Cinta selladora para rosca
26. Hex Wrench  Clé hexagonale  Llave hexagonal 
 (H3.18 * 20 mm L *  (H3.18 * 20 mm L *  (H3.18 * 20 mm L * 
 90 mm L) 90 mm L) 90 mm L)
27. Hex Wrench  Clé hexagonale  Llave hexagonal 
 (H2.5 * 19 mm L *  (H2.5 * 19 mm L *  (H2.5 * 19 mm L * 
 53 mm L) 53 mm L) 53 mm L)
28. Cap Capuchon Tapón
29. O-Ring  Joint torique  Empaque circular 
 (Ø1/2" ID * Ø5/8" OD) (Ø1/2 po ID *  (Ø1/2 pulg. ID * 
  Ø5/8 po OD) Ø5/8 pulg. OD)
30. Piston & Cylinder  Assemblage de piston  Ensamblaje del pistón y 
 Assembly et cylindre cilindro
31. O-Ring  Joint torique  Empaque circular 
 (Ø9/16" ID * Ø5/8" OD) (Ø9/16 po ID *  (Ø9/16 pulg. ID * 
  Ø5/8 po OD) Ø5/8 pulg. OD)

D500521

A603882

A008664
A008241

A127008
S1221302
A112727
A022028
A020002
A019001
A029463
A008103

A028046M

A075143

A006311-50
A010567

A060253
A009803
A104105
A041061
A507712

A603570

A034275

A603981
A028452
A203000
A031017

A031000

A603633
A004553

A603631

A048026

⊙ Available in all finishes above
⊙ Disponible dans tous les finis susmentionnés
⊙ Disponible en todos los acabados

• This model is packaged as a complete faucet or as trim/rough-in 
   components of the listed faucet.

• Ce modèle est emballé de deux façons : robinets complets ou 
   composants garniture/robinetterie brute du robinet indiqué.

• Este modelo se venden como  grifo completo o componentes 
exteriores/interiores.

26.

18.

12.

13.

27.

25.

17.

16.
24.

10.

11.

15.

21.

14.

23.

20.

2.

19.

1.

4.

3.

22.

28.

5. 6.

7.

8.

9.

29.

31.

30.

Replacement parts, call :
Les pièces de rechange, appellez :

Partes de reemplazo, llame :

1-888-328-2383
WWW.DANZE.COM



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


